~ a4 L EBE/EA BEA
EY 20— b aien mame

FB B/ERE RXTVLRTIVI)
ta CEIRARAG / JIS2 &%

7o59EFEY b4 —}
B - AXMEENT VY RITENTVET,
Dy wExTYvTEDN S TIVEHELS,

L1
L2

JER =

L
)
SI2 }w C

KABRIHOSEALTIZEL,
XETICE>TE—L Y FOXRBIIEBICHYET,

A=K~ DI ED2EM E
(A2 _FRTEEZ &6 C)
A — 1 DI &+ 005mm iz
A=K~ L2+ 02mm DLE
ENFABFIE 0.5mm L
D3~EEFLC

ZIDFVE Y F

M2x0.4 4.0 33 3.0 3.0 2.6 0.4 FB-2001

4.5 38 35 4.5 4.0 0.5 FB-204545
M2.5x0.45 3 50 43 4.0 5.0 4.5 0.5 FB-2501
55 4.8 4.5 55 5.0 FB-2502

M3x0.5 55 4.8 4.5 3.0 2.5 0.5 FB-305530
55 5.0 FB-3001

8.0 7.5 FB-305580

6.5 53 5.0 4.0 35 FB-306540

5.0 4.5 FB-306550
6.5 6.0 FB-3002

9.0 8.5 FB-306590

M4x0.7 6.5 58 55 35 3.0 05 FB-406535
6.5 6.0 FB-4001
8.0 8.0 7.1 0.9 FB-4003

6.5 10.0 9.5 0.5 FB-4065100

8.0 6.8 6.5 5.0 42 0.8 FB-408050
8.0 72 FB-4002
M5x0.8 8.0 6.8 6.5 8.0 7.2 0.8 FB-5001
10.0 8.3 8.0 10.0 9.2 FB-5002
M6x1.0 10.0 8.3 8.0 10.0 9.2 0.8 FB-6001
M8x1.25 13.0 113 11 9.0 8.0 1.0 FB-8001

mBEODRIICDLT ¢ FB-3001-CD — C3604 ({£4 KX L#4) FB-3001-EC — C6801 ($RL A#1) ¥ M2.6 X 045 HLEUFAJEET T,



